
2.1 Average Rate of Change   

Calculus   Name: _____________________________ 

Find the average rate of change for each function on the given interval.  Use appropriate units. 

ሻݐሺݏ  .1 ൌ ଶݐ െ ݐ5 ൅ 4;		ሾെ1, 3ሿ 
 represents minutes ݐ
 represents meters ݏ
 
 
 
 
 
 
 
 
 
 

ሺ݄ሻ݌  .2 ൌ ݄ െ ݄ଷ; ሾെ3,െ2ሿ 
 represents people ݌
݄ represents hours 
 

3.  ܾሺݓሻ ൌ ݓ ൅ 2௪; ሾെ1, 2ሿ 
 represents window panes ݓ
ܾ represents cleaning bottles 
 

Find the equation of the secant line on the given interval.  Put the equation in slope‐intercept form. 

4.  ܽሺݐሻ ൌ െ16ݐଶ ൅ 	;ݐ10 ሾ1, 2ሿ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

5.  ݂ሺݔሻ ൌ ଵ

௫ିଶ
; ሾ0, 3ሿ 

 

6.  ݄ሺݐሻ ൌ cos ݐ5 ;		ቂ గ
ଵ଴
, గ
ହ
ቃ 

 

Using the interval ሾ࢞, ࢞ ൅  .ሿ, find the expression that represents the slope of the secant lineࢎ
7.  ݂ሺݔሻ ൌ ଶݔ2 ൅ ݔ3 െ 4 
 
 
 
 
 
 
 
 
 
 
 
 

8.  ݂ሺݔሻ ൌ  ݔ3√
 

CA #1



9.  ݂ሺݔሻ ൌ ݔ5 െ  ଶݔ
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

10.  ݂ሺݔሻ ൌ ଵ

ଷ௫
 

 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Answers to 2.1 CA #1 

1.  െ3 meters per 
minute 

2.  െ18 people per 
hour 

3.  
ଵଷ

଺
 bottles per 

window pane 
ݕ  .4 ൌ െ38ݔ ൅ 32  ݕ  .5 ൌ

ଵ

ଶ
ݔ െ

ଵ

ଶ
 

ݕ  .6 ൌ െ
ଵ଴

గ
ݔ ൅ 1 

 
 

ݔ4  .7 ൅ 2݄ ൅ 3  8.  
ଷ

√ଷ௫ାଷ௛ା√ଷ௫
   9.  5 െ ݔ2 െ ݄   10.  െ

ଵ

ଷ௫ሺ௫ା௛ሻ
  


